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I 1 mwn: n2no — when it applies (chiefly to T n117p) and when it does not apply (chiefly — 11ax naip)
a 72y 277 only exceptions are ¥"w 927 nYYn 19 (v. 2) and ndnwnn YW (v. 3)
i pwow 7 also 1"y Myw
ii a7z wM lists 17y YW and ¥WTN Y9
1 A7 771"y »1Yyw have no nano — and “in its place (per X121 — tradition of 2 M2 o of ¥”p) — nHnwWNH PYV”
2 "% n>no always done by owners; 177R is not an “owner” of nonwnn VYW (no M193 for him through it)
(a) A7 77 170R and his family do gain 0793 via nonwnn PYw
(b) Note (707 77): they are consistent with their positions (1:X m»aw):
(i) A7 7 v. 1 refers to all precincts and members of Y8197 593 — all have 0193 via nYnwnn YV
(ii) v parallels 170X 99 with 'n% 1YW — each performs w7pn NNV for 07N and DYRIWY, respectively
1. And: parallels "1 on nonwnn YW for YR’ to 17 on 12 for 07303 (012N have no “phn” in PYw)
(iii) Challenge: w™ has to agree that they’ve been equated
(iv) Answer: indeed — but they have distinct and separate vehicles for n793
iii #7772 interpreting v. 2
1 Amm 73790 WRY excludes 7y 1w
2 w7790 YR excludes nnpt from 1"y *1Yw - but it is performed - by 1nx (!)
iv  Contradictory 817712 interpeting nn (v. 4):
1 am 7. omn excludes 1y »yw
2 w”7nnrequires N2no by 1n3; unlike 1"y 1YW — which require nnpr
v Analysis (o 77): the first Rn»1isn’t “set” either; v™ requires 0’911 n>nY and the 113 isn’t the w51 of 1y 1YY
1 Rather (mix): " excludes 1"y »yw from “q9n”; ™ excludes 1708 from 1"y YW via 'Nn — rather DIpr
2 And:w" told nTn? 1 that if he heard a tradition that there is no n2mo at 1"y »’YW® — it means none for 112
vi  Question: why does T '1 require a Vyn — we have R127's tradition of “2 m1a%1 Mm>no”
1 Answer: for maintaining what he was taught (interpretation of the verses)
vii  Question: what is w"’s source for n>mv at 1"y »PYW?
1 Answer: v. 3 —ywn is superfluous;
(a) " extends nmo to WM PYWY (i.e. »YW brought during days of dedication)
(b) w™r extends to 1"y *VYV
(i) Reason: any nron which enters wmp has namo
(if) Note: reason added (after exegesis) to remind about the rule (not needed for 1"y »1yw)
(iii) Question: why not apply it to 'n% 1»w on 3"
1. Answer: must be similar to X1 YW (v. 3 — the source) — brought for identifiable sin
viii Justification: R1217's tradition and the verses
1 Without: R»17's “limiting” tradition, we would have extended n3nv to naxy »w1s (cf. 62b)
2 And without: verses, we would not know where to apply 81727’s tradition (which “2”)
3 Note: ™ accepts R117's tradition; he has only 2 71a¥2 m2mo where the o’9ya have namo
(a) Explanation: according to him, n>nwnn 9»W requires na'no (explicit in X1pn) but not by owners
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b 7 nua3p. only exception (=exemptions) are noa) Twyn 721
i &17772 3 mentions of 117p (vv. 5-7) exclude these three
1 7102 in spite of possible vp — 1131 is sanctified from birth
2 7wyp: in spite of possible 1'p — 7wyn has ability to draw in the one before and after (#9 and #11)
3 npg in spite of possible 1"p — unlike Dn5v, he is obligated to bring noa
(a) Challenge (to all 3): mn%w are more stringent than all 3 — require 0’201 and waving of v"n
(b) Answer: these »’p10a (used as exclusionaries) are XnanoR (these three would be excluded in any case)
4 In that case: the 3 mentions of 1127 exclude —
(a) 1377 and not another’s (cannot operate as an agent for n3nv)
(b) 1377 and not a a non-Jew’s 127 (no nno applies)
(c) 1377 expands to require all partners in a joint 127p to perform nano
¢ w7 an heir, bringing his deceased father’s 121p, performs n2no (and is liable for 0’21 and his nnn is valid)
i Story: ®an taught the opposite (an heir is neither 7m0 nor is his n7mn valid) before x13
ii  Challenge: from our mwn (Rn asked if he should repair his version; 8171 advised him not to...)
iii Answer: that version is nTn’ "
1 Source: ma3p (vv. 5-7) excludes father’s offering (along with two other exclusions — see above)
(a) And: he applies what we know about wTpn 910 (=12'n0) to WTpn N’ NN (=n11nN)
(b) 37 interpret 1m 0n (v. 8) to expand rights of NN to heir and apply w1pn n%nn to vTPN MO
(i) And: they use 117p as above (excluding fellow, non-Jew and including partners)
(if) 2™ either rejects application to partners (no nanv) or else reads “fellow” and “non-Jew” as one
(c) ™ interprets 1 70N as applying to a woman (since entire nw1a is written in the masculine...)
(i) 227 apply nmnn to women from Ry, which > doesn’t regard as significant
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